Key to Final Exam; Finance 4360; Fall 2006; December 9th


Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “Used to save”?
Ctrl + S

Short answer questions/problems

Problems/Essays

1.  Two minutes prior to the issue of new bonds by Kroker Frog Food Inc, the investment bankers discover that all of the planned restrictive covenants in the debt contract were mistakenly deleted prior to filing with the SEC (and as a result prior to the planned sale of the bonds in 2 minutes).
a.  Assuming that the firm decides to proceed with the bond issue, how would you expect this error to impact the sale of the bonds?

b.  How might this error impact the decisions the firm makes over the life of the bond?  Justify your answers.
a.  Price of bond will be far lower than planned (or interest rate will be higher).  

b.  
1) Likely to invest in riskier projects if not prevented by covenants

=> stockholders get upside and bondholders get the downside

Key: stockholders have residual claim and unlimited liability while bondholders have fixed claim.

2)  Likely to pay more dividends

=> when pay dividends value of stocks and bonds fall, but stockholders have net gain since get all of dividend

=> when pay dividend risk of firm rises since risk-free cash is paid out

=> benefits stockholders at expense of bondholders

3)  Likely to issue more debt and repurchase stock

=> new bonds dilute claim on existing bondholders if same priority of claim

=> make more decisions that allow stockholders to steal from bondholders

3.  What types of analysis would help you figure out whether a firm’s management is creating wealth for the firm’s owners?  What information would you need to do this analysis?  Note:  Limit your discussion to the two types of analysis that are most likely to reveal whether wealth is being created for the firm’s stockholders.
1)  See if EVA is positive and increasing
EVAt = NOPATt - kt-1 * Capitalt-1

Info:

NOPATt  = NIt + Int. Expt (Basic EVA)
NI = net income

Int Exp = interest expense

Capitalt-1 = Assets t-1 - NIBCLs t-1
Assets = book value of assets

NIBCLs = non-interest bearing current liabilities
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S = market value of stock = # of shares x price per share
B = market value of bonds, but usually use book value

rs = required return on stock  = rf + (MRP)

rf = risk-free rate
 = beta of firm’s stock

MRP = market risk premium
rB = required return on firm’s debt
=> need debt rating, average return on debt with this rating
2)  See if stock price rising
Notes:
1)  May be rising (or falling) because overall market is rising (falling)

2)  May be rising (or falling) because of factors beyond the control of management

3)  Alternative to rising stock price:  P/E ratio increasing or high or market/book ratio increasing or high

Alternative answer to EVA and stock price that are not as helpful as first 2

More likely to be creating stockholder wealth if incentives are correct if incentives are correct.

Bonus system based on EVA not earnings

=> consistent with the time value of money, cash flows, and risk

=> more direct link between bonus and creation of stockholder wealth

Options and/or stock in firm

Increased debt in capital structure

- takes discretionary cash out of management’s hands so won’t waste it

- allows management to own larger percentage of firm’s equity

- keeps management’s feet to fire so work harder to avoid bankruptcy

Another alternative to EVA and stock price that are not as helpful as the first 2 or incentives

Return on equity above industry average and rising

Even less direct measures:  

Return on assets above industry average and rising

Profit margin above industry average and rising

Very indirect measures:

Inventory turnover above industry average and rising

Receivables turnover above industry average and rising

Total asset turnover above industry average and rising

Use the following information in answering questions 4 and 5 below

Yellow Pencil Inc. is considering building a new factory to produce pencils that can be used to surf the web when not being used to write.  The factory will cost $950,000 to build (all payable today) and would be expected to generate its first monthly cash flow of $20,000 five months from today.  After this initial cash flow, net cash flows are expected to increase by 0.1% per month through the final cash flow 5 years from today.  Because the pencil’s web browser always starts at the Yellow’s search page, Yellow expects that producing the pencils will generate additional net cash flows from selling ads of $10,000 each quarter beginning ten months from today and continuing through 3 years and 10 months from today.  The new factory is slightly riskier than Yellow’s existing assets with a beta for the new factory of 1.2 compared to the beta of existing assets of 1.1.  If sales of the web-ready pencils exceed expectations, the factory can be expanded at a cost of $500,000 any time over the next 3 years.  As of today, the present value of the cash flows that the expansion is expected to produce is $400,000.  The standard deviation of returns on the factory is 25% over the next 5 years, 28% over the next 3 years, and 26% over the next 3 years and 10 months.  The standard deviation of returns on the possible expansion is 36% over the next 5 years, 40% over the next 3 years, and 37% over the next 3 years and 10 months.  

Assume that the market risk premium is 7.5% and that the rates on Treasuries (all APRs with continuous compounding) depend on maturity as follows:  1-month = 4.96%, 1-year = 4.76%; 3 years = 4.44%; 3 years- 10 months = 4.36%; 5 years = 4.32%

4.  What would be the value of the project if there were no the possibility of expanding the factory if sales exceed expectations?

Growing Annuity
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5.  What is the value of the project including the possibility of expanding the factory if sales exceed expectations?

NPV = NPV(4) + C0
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6.  Use the following information to answer questions a through d below.
Year
Sanderson
S&P500
2006
-21%
13%

2005
-3%
6%

2004
66%
11%

2003
75%
13%

2002
30%
-18%

a.  What was the average return on Sanderson Farms and on the S&P500?

b.  What was the standard deviation of returns on Sanderson Farms and on the S&P500?

c.  What was the covariance of returns between Sanderson Farms and the S&P500?

d.  What was Sanderson Farm’s beta?

a.  
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b.  
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c.  
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d.  
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7.  The cash flows associated with a factory that Stonebridge Tires has just completed have suddenly become far more volatile than predicted when the decision was made to build the factory.  (Note:  nothing else about the factory has changed).

a.  Explain how this increased volatility might reduce the value of the factory to Stonebridge.

b.  Explain how this increased volatility might have no impact on the value of the factory to Stonebridge.

c.  Explain how this increased volatility might increase the value of the factory to Stonebridge.

a.  If the increase is systematic, the required return on the project will rise
=> if project involves outflows followed by inflows, then the value of the factory will fall

b.  If increase in risk is non-systematic, then the required return (and project value) will remain unchanged.
c.  The value of options will rise as overall variance of the underlying asset rises

=> if the project has significant options associated with it (option to expand or option to abandon), the value of the project will rise with an increase in volatility

Note:  if the project has an inflow followed by an outflow, an increase in systematic risk will increase the required return and increase the value of the factory
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